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Correctness

‘ Input ‘ Output ‘

0 0
131 132
65 84

Design Question

The click method for the Calculate button. Creating a message box should
be part of the GUI machinery. If it were done by the SumOfDivisors
method, the method would not be portable to other applications.

Testing Question

No. Every prime number has exactly two divisors (1 and the prime number
itself), so they are a special kind of input value. Thus a good set of test
cases should include input values that have more than just these 2 divisors.



